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The figu
for the questions

stions, taking one from

Answer five ques!
¢ach Unit
= uNr—1
1. (a) What do you understand by consis-
tency of data? HowW do you check it?
o | 2+2=4
(b) Show that—
(i) if all A’s aré B’s 4hd all B's aré C’s,
then all A’s are Cs; .
i) if all A's are BS and no B’s ar¢ Cs,
then no A’s aré C’s. 4
( Tum ‘Over )

20D/331



© I .8 =(AB)-(AB), then with usual

(38)

notati .
tions prove that—— (p) How does sampling with replacement
) [(A)- ) ¢ differ from that of without replacement?
) 14) (“)],[(B)-(B)]+2N5 Which of them provides - a more
=(AB)? 2 ent estimator of the po ulation
| (ABY"+ (ap)® - (4p)? - (B2 oan? PP 2s1-3
(ii) 8=% (AB) (Ap) .
N (B B (c) Describe the method of determining the
: o b sample size in case of simple random
2. (@) Whati . : sampling with given margin of error d
are a:‘;cs) ZiSCfc;ation of attributes? Wh and confidence coefficient (1-a)- 3
associated ﬁ;ﬁgtezesaiq to be positiveel; I
Does association gatvely associai 3 the vari
. on betwee iated? 4 Obtain the expression for the V& ance
im n tw . . (@ ) i
ply a causal relationship? %:;tlgl;utes 7. of the e\snuglllate of the population mean 6
o . ) for SRS * ‘ ’
(b) Define Yul ' 1+2+326 ’ '
e Yule’s coefficie i ling is more
and - th ficient of . L. _ at. systematic samplng 1S "
Estabh’t:rf goociiicient of o ation ) P;EZ;:: tharyl SRSWOR if the variability
i e following relati gation. ¢ s systematic sample is
oefficient of relation between in & partlculal' SYSt in  th
coefficient of comasspclatiofl Q and more than the variability in e .
| gation Y : populataion as a whole.
__2Y |
What i 1+y? unt—11
at is the ran s
ge of values for Q7 e the prbcéiilife of stratified
0+3+1=6 5. (a) Dessﬂme <ampling.  DisCUes its
UNIT—I1 ‘ ranco : . ) 3+3=6
3. (@) Whn : advantages
° at is g satacni . .
' hac ample . . of the _population
the -basic Princli) 1 survey? Discuss (b) Obtain the estimator d of stratified
survey. ples: of a sampl y the - etho { h
, ple mean bY . and also obtain the
2+3=5 random sampling ° tor 5
20b/381 variance of the estimator:
A { Continued- ) : ( Turn Over )
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(4)

ve -
that . V(yst ) is minlmum for

(5)

uNT—V
by RBD? Give the

fixed total
Size
n, cK:NhSh : Of the sample (n)’ if |
' 5 9 (a) What is meant
(b) Show that | analysis of variance for the design
' stating clearly the mathematical model
Vigae) k-1_, and the underlying assumptions.  2+4=6
sys) =—=82_ 11,
(Notations e et .(n+1)p‘”st} 6 () What do you understand by mi.ssi.ng
S have their usual meanins ‘ plot technique? Explain how misSing
S eanings) plot technique can be ussed to estimate
7. UNIT—]v ; the missing observation in RBD- 2+3=5
+ (@ What is
analysi
the VSIS of v - i eriment? Define
Class?f?:éys? of Vanan?;agfc f talscuss 10. @) ?hta:e:;: ‘rf::.‘i::lr::aflfezfsg and ‘nteraction
+ 3=
(b) State S 2+4=6
the mathers ,
analysi ‘ ematj » . it- ¢ ntrast? When
classyiis'ilcsa,t_’{c"‘-f . Y%-F‘iancgal i:ln°del used in (b) What S aS uté'gatif;if:ras:s e to be
be used, D Explain the b 2 one-way are W0 o Snow that in a 2%
tWO-Way;) Discuss the adypotheSis to orthogot? ¢t the main ffects and
ver one-way ¢} Vantages of experiment, ! e mutually
assification interactiont effects s 1+4=6
8. (@ Explain the p 142+2=5 orthogonal.
randomiza, Principles of repy;
experimengin* and local ZZPIICauon ’ : * k%
the role each designs POintirxlltrOI n: |
and .- one plays j ou ;
b Precise interpretation of e valid
) D ata.
o :ﬁ::l‘;:"penmental error
needed to Sources? What m t“rihat are .j A
experi Ncrease the ctiods are i
periment? Precision of an
20D/331 1+2+2=5 e
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